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| QUESTION BOOKLET

This question paper contains 170 questions. /W A H 170 79 2 |
All questions are compulsory. / Tt wea 3fE # | ,

One question carries half mark only. / T% We % f7g et ama 7% 2 |

Maximum Marks : 85 31freray 31 : 85
Time : 2 Hours Y : 2 90
L.~ Which of the following HTML tags is used to create a numbered list of items ?
8 fhe HTML 31 1 F} Tt o s @ forg 3w fepa e B 2
(A) <ul> BT <ol> « ; (C) <nav> (D) <dI>
2, The concept of CAPTCHA is based on test to distinguish between

human and machine operators. i B
(A) Babbage (B) Tomlinson (C) McCarthy (1) Turin

CAPTCHA %1 forgra Tligor o 3naTiE & S 7 3R

I TR B | _

(A) F59 (B) ftrwed () Bewef (D) =R
3. How many heading levels are supported by HTML ?

(A) Five (B) Four f@g Six (D) Three

HTML g fepa 2fén siae avid fpu oma 8 2 e

(A) U= (B) =W Q) ®: (D) dH =f
4. Which of the following is not a part of a URL ?

&% Protocol B) Accesstype (C) Fragment (D) Domain name
§ 71 URL 7 TER? _
(A) siErprer (B) THREIET (C) Wme (D)/ S 3w

5. Which of the following is the HTML tag to create a data cell in a table ?
T E RE HTML &1 %1 U 291 & U 321 o) 391 3 70 39 fohar siman 2 7
i@: <cell> (B) <data> (C) <dt> (D) <td>

6. 1ich of the following is the HTML tag to insert an image in the web page.?
FH & T8 HTML &1 %1 3 31 3 U 389 Tt i 3 10 390 Befm & 7
) <img> (B) <photo>  (C), <picture> (D) <image>
W In

CSS, style is specified using the “style” attribute of the element.

(A) external _ (B) inline (C) internal D teri
CSS &, TRrie 3 “style" W2 5 9 31 e B 5
(A) Ha (B e (C) 3=e (D) UaTaT

8.  Which of the following CSS properties

is used to set space Between the
content and the border of an element ? g

(A) gutter (B) padding C) margin (D) spacing

@m(%)%ﬁzmﬁé%mm K

Freferitaa # 4 5 @1 79w g ? N W b
= (B) ¥ (C) mif (D) @i

e e e e e a

/
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9.

10.

114

12.

13.

14.

15.

How will you link an external JavaScript file with an HTML dodument 7
(A) using <script> element E usmg <]1> element
(C) using <link> element D using <meta> element

aﬂﬂ'ﬁ?ﬁmmﬁﬁlav%cnptmﬁ HTMLW%W@?
A')/{serlpt} I T IYYN FHeh (B) <li> mm‘rt{qﬁmﬁ
(C) <link> FTIIHIWTHFFE (D) <meta> 37aa FI I HTH

Which of the following HTML tégs is used to create a hyperlink in the web

age ?
%ﬂmmemaﬁeme HTML 7 1 391 €ia1 & 7
T’/ <Iegend> {B) <b> (C)/\. <a> (D} <link=

Which of the following is a voice-controlled digital assistant provided by
Microsoft Windows 10 2

(A) Teneo (B) Siri (C) Al D')?/Cortana

8 T O W 10 70 SR e T S-S e
R R 7
(A) s (B) fft (C) e (D) e

Which mode disables a device’s all the wireless transmission functions like
cellular radio, Wi-Fi and Bluetooth ?

A) Tl'ﬂll‘l ) Recnvery (C} Hibernation (DF Ai lane
ér: HUYT ey 1 arEme %Tlg

e, ?ﬂs—tﬁr%aﬂi

(A) ¥ (B) ﬂaﬁﬁ (C) TwRH (D) THH

Which of the following is a Microsoft anti-malware that provides real-time
protection against viruses, malware and spyware ?

(A) Outlook (B Defender (C MeAfee : (D) Kas ersky

amﬁmm (real-time) g{mmaﬂm% ?
(A) AITAH (B) Erh= (C) HhThy (D) FEEFE

Windows mode boots the computer using minimal functionality
with limited number of running applications and processes.

EH}”‘Safe qgg) Fllght (C) Silent (D) Dark

fn:? (%) mf%m:r e whwanait % |y
ATH FERATICTe] 1 TN Hieh
(A) % (B) s (©) mﬁz (D) =
Which of the following web browsers is installed by default in Windows 10 ?
A) Edge B) Chrome
f C) Firefox Internet Explorer
B M @1 99 AR Windows 10§ T8 § fl FTRieT g 2 7
(A) & (B)y, M
(C) FIETHT (D) 3T TN

Code No. : C-67 6/2021/Series-C 4



16.

1%

18.

19.

20.

21.

22,

23.

Which of the ['nllow:'nF is a free cloud storage service provided by Microsoft
to store the personal files of the users ? . ‘
(A) Amzon Drive (B) Media Fire (C) DropBox _(BY OneDrive
FH & B | R T WRA gfayr STk g g i s wige o
W HiH & Ty 3uersy s 78 2 2
(A) TS ge  (B) Hiftmwrw, (C) gluaew (D) agrEE
Windows donsists of “Quick Actions” area and the Notifications area
to enable convenient access to them. :
(A) Control Panel (H}-?Taskbar

C) Action Center (D) Status Bar =
q “;guic%%%qtinns“ &5 3% ‘Notifications’ &% I8 EH! ¥ TgH

HEH gl

(A) TEWE (B) TEHER (C) TRAE (D) RHER

Which of the following characters is not allowed in a file name in Windows

operating system ?

Rveror ST e 3 & Sl 1 oreet 5 o ) e # 7
(A) ! (Exclamation) (B) ? (Question mark)

(C) $ (Dollar) (D) - (dash)

Which of the following utilities is used to check and fix disk errors in
Windows OS ?

Windows OS # 390 & %1 &t gfeferdt o1 fewes vl ) sife qun & 3 & forg
I9FT fop AT B 7

(A) defender (B) snippingtool (C) defrag (};i(r—‘é’ﬁﬁdsk

What is the shortcut key to open Windows Task Manager ? EE
S e A S TR e e T e )
(A) Ctrl+Shift+T (B) Windows Key+R

(C) Ctrl+Alt+F4 (D) Ctrl+Alt+Esc

The is & database used by Windows OS that stores the settings for
hardware, software, and user settings, =5
(A) MySQL (B) Config (C) Oracle (D@T%gistry

T favgid-OS gr Yot TRTEE 8, e aiRaat, aeaat dfer ayn
IoRT =1 Aford wfEa Bt 2 |
(A) MySQL  (B) wW®m (C) M (D) TS

What is the Linux command to terminate a running process ?

T =Ty (W) vl &1 o F0 % R e @ s wwis @ 7

(A) ps (B) fire (C) kill (D) del

Which of the following clﬁuse.s in SQL SELECT statements is used to filter
the rows as per the given condition ?

SQL SELECT 4 ) ¢ WA % ot i
e s L LS SRR ot e
(A)Y)WHERE  (B) ORDERBY (C) FROM (D) GROUP BY

e o s S e e e —— — —— — — - — — e — ———
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24,

26.

2l

28.

29,

30.

31.

N

Which of the following SQL statements is used to add a new column in a table ?
Teh Sl § 71 BT TS % 10 398 | ohE SQL e i IHATT oha A & 7
(A) CHANGE TABLE (B) UPDATE TABLE

(C) TRUNCATE TABLE ()~ ALTER TABLE

Which of the following languages is used as scripting language in HTML
documents ? "

$
TR B 7 H T HTML Zrgiiee  fonfes wme 3 di ot 37 6 arft 2 7

(&)JavaScript  (B) Java (C) ForTran (D) Python
Whigh of the following is a DDL SQL command ?
378 ¥ S @t DDL SQL #7128 ?

(A) INSERT  (B)-CREATE (C) DELETE (D) UPDATE

Which of the following SQL query will find the number of records in a table
x for which the column y has a value of more than 70 7

=it & B9 H SQL 0 T e x 8 Rebrd &1 e 7 ! @ e ey
oA Fl A 708 e B ?

ﬁ SELECT count(*) FROM x WHERE y > 70

(B) SELECT count(y > 70)FROM x

(C) SELECT count() FROM x WITH y > 70

(D) SELECT count (*) FROM x HAVING y > 70

Which of the following attributes must be defined in an <input> element in

H form to ensure that it is not left blank ?
(AY required (B) mandatog (C)_filled (D) wvalid
HTML iH # U <input> 99 Fd 7 " ®A 1 T 3799

(o) BT =R A1 =g @l 7 e 9 a8 Mivew # g ¢
(A) Tomas (B) w=ed (C) fres (D) feE

Which of the following programming languages is used to create macros in
MS-Excel ?
MS—%xcelﬁ Macros &1 &9 % 170 90 § I T SHTET 9eT 1 I9an foma
ATl ?
(A) Java M VBA (C) Pearl (D) JavaScript
Which of the following CPU components generates timing and control
signals for executing an instruction ?
(A) Arithmetic Unit (B)s , Control Unit
(C) Logic Unit _ Instruction Pointer

2 fo CPU itz % g0 2rghi 31t Sgiel fiavrer S oo e & o
fréw a7
(A) TRl gfe (B) #F@afe (C) wiwIfe (D) Féw @
The term SSID is associated with which networks ?
SSID 2 ol e & Heia 2 7
(A) LAN (B)) / Wi-Fi (C) WPAN

(D) NFC



A 3T fobe s fag < @1 HTMIL % e = 2
\:« (A) &less-than; (B) &I (@ﬁ-..—.&lt; (D) &less;
33. Which of the following is a popular GUI Linux Desktop Environment ?
H FH H] U T GUI feies 3t TarreEe 2 ?
(AY GNOME  (B) GREP (C) GIMP (D) GIST

32¥ How will you insert the symbol “<” in HTML ?

34, Which of the following network é]evices operate in Layer-3 of ISO-OSI
reference model ?
(A) Hub (B) - Router (C) Switch (D) Repeater
$TH / HH H Aeash fearsd 1S0-0S] W6 nise & oig-3 & gitaferd &l & 72
(A) & (B) TR (C) == (D) e |
35.  The process of writing data on a CD is also known as data to the CD.
@) -burning (B) firing (C) stashing (D) frying
CD # 211 3Afeha % =l ufskan 1 CD # = A1 1 HET S E |
(A) afn (B) ®fiT (C) =fm (D) I

; L : A
36.  Which of the following is not a relational database management system ?
gﬁiﬁaﬁaaxﬁﬁm?ﬁiﬁﬁhaﬂ#ﬁtzﬁﬂgﬁq%?%?
(A) Oracle (B) SQL-Server (3MongoDB (D) MySQL
37. Whi¢h of the following boxes is not present in CSS box model ?

(A) Border (B) Padding (C) Header (D) Margin
CSS ooy Hiee ¥ 399 & 19 97 S1ad 3Ucey 78] 51 & 2

(A) aTER (B) Afen 48 B (D) =R

38. Which of the following is the correct SQL query to fetch the rows from the
“emp” table having salary less than 5000 ? 4

. o

"emp" 29 # § 5000 § FHH IaA aTelt T (Rows) ) FHH Frerrem & fw gt
Yo H SQL = wEl ? 7

(A) SELECT * FROM emp HAVING salary > 5000
-SELECT * FROM emp GROUP BY salary < 5000

(C) SELECT * FROM emp WITH salary < 5000

(D) SELECT * FROM emp WHERE salary < 5000

39.. Which of the following 'is the correct SQL statement to delete a database
table 7

STEH 99 i Eiefle A & 0 T8 3 3 w1 SQL Do wd 2
A) DELETE TABLE <table name>
DELETE FROM <table name>

g@)' DROP TABLE <table name>
(D) DESTROY TABLE <table name>

7 " Code No. : C-676/2021/Series-C



40. Which of the following is a correct CSS rule ?

T A wA A CSS Fram wdt 2 2 _ 3
(A) p (color = red;) B) g + enlor = 8L
(C) p = color : red; (D) p {color : red; }

41.  Which of the following HTML tags is used {o include an external CSS file in

a webpage 7 . ]
U Cssmﬁmﬁmﬁamﬁ%ﬁmgﬁﬁmmhﬂ%ﬂw
ERDIUE U1 i |
(A) <css> (B) “<link> (C) <script> (D) <style>
42. Longitudinal extent of H.P. is .
(A) 75°47'to 79°04' East (B) 79°14'to 83°15' East
C) 33;2%25':0 87°34' East N (D) None of these
&1 eITa0Y e
E 75°47' | 79°04' g (B) 79°14'¥83°15'Td
(C) 83°22'H 87°34' @ (D) 39 & i3 T8I
43. Number of Municipal Corporations in H.P. 1s .
fEmrae v # TrTersa ) T B @?
(A) 2 (B) 3 < 4 ) 5

44, Sukkar Khad is loéated in which district of H.P. ?
(A) Bilaspur S’%BQ Hamirpur  (C) Kangra (D) Chamba

G TR C I FfrafedfREe ?
(A) feemaa BEHTT (C) =i (D) =rar
45. Siual is tributary of which river of H.P. ?
(A) Chenab (B%Beas (C) Ravi (D) Satluj
Tase femmaet wew =1 fopa = 6 wams 3 87
(A) o= (B) =8 (w- (D) Hags
46. Baba Barbhag Singh fair is celebrated in which distridt of H.P. ?
(A) Sirmour (B) Mandi (C) Una (D) Selan
s asHr R de e ey s e e g g s R ¢
(A) R (B) =vE (= . (D) HreH

47. Famous environmentalist Kinkri Devi belonged to which district of H.P. 7
(A) Shimla (B) _Sirmour (C) Kullu (D) Kinnaur
RS qATEoTeg fehentl gdt ferTael M6y & ol faer <l e areft 8 7
(A) farmer (B) foom (©) 37 (D) fr=it

48. Hattu peak is located in which distriét of H.P. ?
(A) Shimla (B% Lahaul-Spiti (C) Kinnaur (D) Kullu
j{ﬁ?f%ﬂ‘lﬂﬁ'ﬂ%{ﬂ et dfREe 2
YAy Tarmen (B) @@w-#fe (C) fF=k (D) Fwe
- o B



49.

S0.

51,

32,

33.

54,

55.

56.

57.

S8.

Ef\)uhar Valley is located in which district of H.P,?

andi B) Chamba (C) Sirmour (D) Kinnaur
9ETS 9 femrae wew % R fet & %m% ?
(A) Tue (B) = (C) fawk (D) fep=iR
Pin Parbati National Park is located in whidh district of H.P. ?
%‘2,) Sirmour  (B) Shimla (C) Lahaul-Spiti (D) Kullu
Tt WA e femras wew & frg R 3 fRa @ 2
(A) Tawite (B) fmem () sea-wifa (D) Feel
Bhunda festival is celebrated in which district of H.P. ? _
(A) Kullu (B), Sirmour  (C) Chamba (D) Mandi
ST 300 famraret waw o fore forer 3 wamen AR 7
72 g T § (B) fhwR Qg{:m (D) et m5@
Chamba dominion was founded in which year ? Gl
w1 A g e e v O 2
YAT 550 AD (B) 600 AD (C) 650 AD (D) 750 AD
Suket princely state was founded'by
(A) Bahu Sen (B) Bir Sen (C) AjbarSen (D) Garur Sen
Gehal TSI T o1 FEATTF R o7 7
(A) =TgE By @ (C) 3 F (D) T2
The old ndme of Jubbal was
(A) Kirgram (B) Baned (C) Deorha (D) Hindur
&S W1 GUET 79 o7
(A) frama (B) ®mg ()< (D) fe=g
Which is the executing agency of Pon Hydroelectric Project of H.P. 7
Wﬁﬁ%w&ﬁwﬁﬁwﬁmﬁﬁqﬁ% il
(A) HPSEB  “(Bj NHPC (C) NTPC [(D) BBMB
Eternal University is located at whigh place in H.P. 2
(A) BaraSahib (B) Waknaghat (C) Indora (D) Bathu
; e < foe T T fRre #
Ay sgTEfzd (B) FAER (C) (D) =my
The first Buddhist council met at
(A) Rajgriha (B) Kashmir (C) “Pataliputra (D) Kanayj
YYH Fg i g8 ot
D (B) *yHR (C) ureferga (D) =1

The Council of the ‘Nine gems” is associated with
(A) ~Chandragupta — 11 (B) Shivaji
(C) Ashoka » (D) Kanishka
-1 6 uiwg FEfa 2

'(r\kfmf sTH-11 (B) REwsh (C) 313 (D) ==

I — e — ——— e .y e, e . . —
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59.

61.

62.

63.

65

66.

Token currency was introduced for the first time in Indig by

(A) Balban (B) [Itutmish
“r=Nuhammad-bin-Tughlag Alauddin Khilji
TE A 571 w1 TEEA mn:mww:rfr a0
(A} HF{E'J:? _ fB} =maln'rq _
(C) Trme-TaR-r== 3 (D) FTEEE i 3
The capital of the kingdom of Mahgraja Ranjit Singh was
(A) Lahore  (B) Patiala (C) Amritsar (D) Kapurthala
j =R (B) Tzar= (C) w5 (D) FFEA

*»‘rr-o was called by the British rulers as ‘“The Leader of Indian Unrest’ ?
(A) Gﬂ'{)al Krishna Gokhle (B) Subhash Chandra Bose
(C) _Bal Gangadhar Tilak (D) M.K. Gandhi
75 37 R 2 A w1 3 e A
(A) 'W?'DTW (B) W*am

A= T e (D) 7.3, T
Who introduced the railways and telegraphs in India ?
(A) Lord Lytton (B) Lord Curzon
(C) Lord Canmrrcr (D) Lord Dalhousie

r
A § 199 97 ZHUTE 91 feud Fne = 7 ;

(A) mizfegm (B) miEE:33 (C) = I'I/”FT’"”H‘»’I‘:I"’
Fundmnmtal Duties were 1ncnrporatcd in the Indian Umsutuurm in which

------

SEE A S YEAm EETR s FEE T e T

tﬁ"’lg?ﬁ (B) 197% (C) 19585 (D) 1993
Which state does not have a bicameral legislature ?

(A) Bihar (B) Rajasthan  (C) Karnataka (D) Maharashtra
e T FEs T A 2

(Ay Ta=m e (C) =A7= (D), TETTZ

Who zdministers the oath of office to the President of India before he enters
upon the office ?

(A) Vice-President (B) Prime Minister
(C) Chief Justice of India (D) Lok Sabha Spﬂaker
TR T T %] TEAE T8 F4 % 04 S 0 G 2
(A) T‘ZT-TI';J,"ZITH | (B) TaH=A1
! ey AT = e AT (D) =% a9 7243
Policy refers to the policy of
:ﬁon%mg:emm?ntr R (B) Moneylenders-
(CJ Central Bank~ (D) Lomm::rczat Banks

| g At 3 A g A R

(A) THN (B) 'ﬂl"?r?m /LC; ’-F‘-?TEI?E (D) === 35

Code No. : C-ﬁ’?ﬁs‘lﬂZIfSenes—C 10



67.

68.

69.

70.

7L

72,

13,

74.

Seasonal unemployment refers to

(A) Agriculture (B) Banks
(C) Public Sector D) Private Sector
i (D)

A e (B) d% & (C) @ dzd (D) e emw

Which is the Brightest planet ?

(A) Mars (B) Jupiter (C) Mercury (D) Venus
HH TARIA TR S F18 7 A\

(A) e B) @R (C) T (D) T
Anticyclone are caused by TN

(A) Violent winds S

» Winds that blow spirally outwards from the centre
~ (C) Winds that blow spirally inwards
(D) None of these

FHh HIT a1 2
(A) Iearelt ol |
(B) & T WX | WTeT shl 371 Titer wge | Z5m
(C) TaT i Siay it o e waeht § | ﬁﬂg
(D) FHEHETE
Peru is located in which continent ? |
(A) Asia (B) Europe (C) Africa _ (D) South America
o e waa R g '
(_.ﬁtf)“-({ﬁ"’lm (B) I (C) 3Tshieht (D) =ftam smteEm

The capital of Switzerland is

A) Bem (B) Dhaka (C) Moscow (D) Muscat
%ﬁﬁﬂgﬁwwﬁ% -

(h) (B) & - (C) W= (D) W
27;’31{:‘}:1} Indlatn State(g)kn&wE for llzts Sa‘(xaaleood 7 -

ujara a aras tra ripura Karnataka
S |1 A TSY =g 1 Shel & fIT ST Sma1 2 2 |
(A) T ®) mmg  (©) P ) +Afe
The highest dam in India is located in

A BY U.R C) M.P. D '
LT W ) i

(A) @Iy (B). l?ﬂTﬂ?ﬁT (C) AW (D) dwm

Insulin 1s- secrete;l 1(118 ) ' G T—
(A)_Liver all Bladder\( )/Péncraas (D) Intestine
T o1 &1a 59 g \

(A) TFA (B) fffﬂTm (C) 3rgm™ (D) a4

s - Y
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75.  Rayon is Shemically

(A) Glucose (B) Amylose  (C) Cellulose (D) Pectin
@H THAE ®9 9 8

(A) TEE  (B) smmew  \oyf dmew (D) e

76. Kala-azar is transmitted by

(&) Sand fly (B) Tse-tse fly (C) Mites (D) Black flies
Tl TSN 3 I a1 2
(A) WEHIEHT  (B) -0 AEE (C) FHh! (D) o0 Hi&wehT

77. The‘air becomes heated by
(A) Conduction (B) Convection (C) Radiation (D) Diffusion
T 3E TTH &N B
(A) =T (B) HaEd (C) faferzm (D) ferm

(78. In% class of 36 students, Ravi’s rank from the top is 12. Radhika ranks three
places above Ravi. What is Radhika’s rank from the bottom ?

36 T HY T Ha F, 0 H E WA 1247 2 | wfte, fF G i v FWE
gfrm F E AR R TR ? |
(A) 26 (By 27 (C) 28 (D) 29

79. A man pointing to a lady says, ‘Her brother is the father of my only son’s
sister””. How is that lady related to the man ?
(A) Daughter (B) Sister
(C) Grand Daughter (D) Niece
Teh HTEH! 3 T Higell 1 3R 39 T §Y F7] “IqehT 9§ W 3helld 9 1 a7
%1 fuar 8> | 9z wfgen 30 gou & ford bR dafa @ 7 '
(A) T @/Ttﬁ ©) W L (D) st

80. Rohit walked 25 metres towards South. Then he turned to his left and walked
20 metres. He then turned to his left and walked 25 metres. He again turned
to his right and walked 15 metres. At what distance is he from the starting
point and in which direction ?

(A) 35 metres East (B) 35 metres North
(C) 40 metres East (D) 60 metres East

Tifea afiqor 1 AR 25 e wer | {5 g 9 i AR ger 3k 20 diet = |
gamagamﬁmﬁaﬂigaaﬁtzstﬂaawdaﬁﬁmmﬁﬁaﬂ?g@ﬁus
3w|aggﬂmaqﬁaﬁamﬁmﬁﬁﬂ?ﬂqgaﬂ(ﬁw%mﬁ%?
g’ﬁﬁ.qj (B) 35#W.3IW (C) 40¥.g@ (D) 607
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81. Rajendra Kumar Bhandarim, who was in news recently, is the winner of
which award ?
(A) Subhash (Ilhandra Bose Apda Prabandhan Puraskar
(B) Pradhan Mantri Rashtriya Bal Puraskar
(C) Jeevan Raksha Awards
(D) Ashoka Chakra
TSt PAR ST, S &7e &1 3§ Famal & 9, 3 i 81 s S @ 7
oo THTY = AT HIYE T TR (B) WOTHHA] TEHE §of TR
(C) Sfiae &1 R (D) AT =5k

82. The venue of the ‘Exercise Desert Knight 21°. was
(A) Andaman and Nicobar Islands (B) Goa

263 Jodhpur (D) Mumbai

"Exercise Desert Knight 21” Forg wrm ot 29Tl g3 o1 7

(A) SHA-TTHER T T8 (B) ma m5E

(C) WHY | (D) Hrerd G
83. ‘Shagun’ is a flagship scheme of which Indian State ?

(A) Nagaland “(B) Haryana (C) Kerala (D) Punjab

RUGH T 1 T ? )

(A) AMTEvE  (B) BREmN (C) T éf%rra
84. Antonym of ‘Bliss’ is

(A) Anguish, (B " Sorrow (C) Agony (D) Suffering

85. One word substitution for ‘A person who readily believes others’ is
(A) Credible é@)r Credulous (C) Sensible (D) Sensitive

86. He has been recently discharged the army. .
(A) off (B) by (C) to ~ (Pf from
87. Meaning of the idiom ‘A red letter day’ is
_r~An important day (B) An auspicious day
(C) A dangerous day D) An unimportant day

88. ‘=ud & HiY faeae®
(A) 9+ 37 (B) =1+3H ()gf%+3=m (D) =+ 3.

89. <cwfaq d 99 2 (ﬁ-{

) 7= (B) =gHlE AHS (D) readaE
90. ‘¥FH AWTAR | ,

(A) U (B) =H (C) = \[ﬁ?“/::m

91. € ‘o’ &1 aHETE 2
fm/ﬁﬁ'-ﬁ (B) W (C) eoht (D) afE
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92,

93.

94.

95.

96.

o7

98.

99.

Which is a derived data type in C language that consists of different
members sharing the same memory location ? X : _
C WTY1 i 78 ST TTeT R A1 2 w1 F A s A H A fafi
"5l (members) HTEATE 7 -

(A) structure  (B) pointer /G(,(} union (D) array

In C language, all the preprocessor directives begin with a wh_ic'h character ?
C wrn ® |y preprocessor directives féh® character # I[& B 7

(A) & (arnpmand)(B%# (hash) (C) % (percent) (D) @ (at)

The bitwise exclusive operator in C lan%l;a%ge'is represented by which symbol ?

C T & feaTes e STRET e Hhd gl Gl ST & 7
(A) & (ampersand) (B) $ (dollar)
(C) | (vertical bar) (R (caret)

Which of the following operators in C language has two variants called pre
and post 7 L _

C T & i @ o STzt 3 ) witd § e fr oftt i FEd @ 7 .
(A) left shift (B)“increment  (C) address (D) multiplication

In C language, all the character strings terminate with which character ?
C st w+ff character strings 58 character W @aw 2t # ¢
B 0 (B) \n (©) \t (D) \s

Which of” the following standard library functions in C language is used for
formatted output ?

$TH | I 8 7T T e C 9T SihYs arseqe % e WAL 7
(A) putchar() (B) puts() (C) scanf() (¥ printf( )

What iSdLhe format specifier used in scanf{ ) to read a sj :
the standard input ? ) a single character from

%;ng]?ﬁmwﬁ@mﬁmm%m#mﬁwﬁmm

(A) %s (B) %u (C) %e \gﬂ} %o

What will be the output produced by the following code seem t ?
tﬁf iﬁ?}%gs e g g?1 ent in a C program 7
int a = 5, b;

b % ++a +7/2;
PFANtE("%d", b);

SAA) 9 (B) 6 (C) 8 (D) 7

100. What will be the output produced by the following code segment in a C

program ?

T C I § A hig S g N 1 amaeye e 7

it a = 7, b=8;
printf("%d", a & b);
(A) 7 (B) 15 0 D) 8

S e ———
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101. Which of the followin i
_ £ stalements i1s not true about variables i
\Egymmmg language ? rbles in €
. The variable names are case-sensitive,

(B) A varial_ale can only hold values permitted by its data type.
Eg {: I;le variables can be declared anywhere within a program.

€ variables can be declared and initialized simultaneously

. : J-

f=fafea 4 & =5 @ wus C Wroma= A7 8 Sftoss & ey F 7erd B 7
(A) %ﬁ@a%ﬂ@?:;a;@ﬁ:ﬁa AAF |
(B) @ 1 81 W @ 8, T i sgenr gy veR safa 2 e |
(C) AT T Wi & %8 f it &1 a5 3 |
(D) ANTE Toh W1 I T IR B T E |

102. If the si_ze of short data type in a C implementation is 2 bytes, then what is
the maximum value that can be stored in a variable with this type ?
I C Frai=ed # W 221 R 1 91E 2 9122 2, o 7@ ER & T U IRE
© wufEa Tawy o w4 A 7 [ -
(A) 16384 (B) 65536 qﬁ‘) 32767 (D) 32768

103. What is the decimal representation of the 2’s complement number 1101011 ?
2's HTATHE TFT 1101011 %7 gymerd e = an g 7
(A) 20 (B) -19 (C) —43 Dy 21

104. How many bits are used for frattional part in IEEE J]uatﬂlg point single
precision representation ?

IEEE =e1-faig uenet gftgrgan fremor 8 «for s 3 feg fora forem s € % 2
(A) 31 (B) 32 oy 23 (D) 24

105. Which generation of programming languages make use of compilers and

interpreters ? -
(A) First (B) Second (ES)/ Third (D) None of these
ST ST w1 o A | Fraes o tied 1 ST g3 OT ?

(A) WA (B) facfra (C) e (D) ¥ & IS TE

106. What is the full form of DHCP with respect to computer networking ?
. U A % gy § DHCP &1 U §9 #:12 ?
(A) Domain Hosting Control Protocol Ok
(B) Device Handshake Communication Protocol Sl
Dynamic Host Control Protocol
(D) Data Handling Computer Program

107. What is the tull form of WiFi with respect to computer networks ?
Jeash & gy ¥ WiFi %10 &9 #1122
Wireless Fidelity _ (B) Wireless Fiber
(C) Wireless in Fixed interior (D) Wired Fiber

. . — —— —_— ———— R e e —————
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10N, A

. e GO
CHa AU sehedmling and wemony magaggnient ete ) ol the O8

t\\ Hk‘luill‘hl'ﬂlt‘ ( 1) th“ l“l |\l‘|”“| [ll'l lll-.\flll.'- fII‘l‘.-‘I'I' .
‘ WS Etd o) " 'lﬂ“l'l a NRERE ;,mq'[ L Y A s | m (M
B e AR A A geniR) |
A (10 ¥

() 4yl (1)) 4l iers,
1“13- \ SO may h“\ o \l','.' ) h\‘\.'l l]“Hp,‘l Ii'll F“'ﬂ”““lH Whi” 71 ”il' I““
ot o A 1y thin statement _ * _ a At o
UAY AL I VR (ol pages) s IR A TE ADECRY SR g A
WA ADE sl ol s oo @ |
k.‘“ Adobe Document Veeder (1) -'\““””"“"‘ Ity ll“”““'.ll ”r
Y Adobe Data Feede '\."h) Antomatic Docuament Feedes
LT How wany bytes ave (heve i 1 NI
NGO 19er) sngeds el & Y | '
(A) 1o (I Mo () A (hy 1o
PEE Which of the tollowing i the correct ordering ol memory cipicily tnils i
mereasting ovder "
S A ®gd A Sy g r’hwhlt 1*1‘1-1.' A a0 Rl R
CAY G- PR e i ( lg (O LI O L ER M
(Y Bl - PR G () Gy - - E P
LI Uhe terms "l and finisy” see ossocinted with which memory
(A secondary Vi he (¢ mnin (1)) read-only
TR A a1 ) @) sl @y
RYBRGGIEER lll‘.lgl Hy (L) s (1) O s
VRN WAl vpe o pomter Sontamms o fuser anscihly
CAY O Vhermal A Dot Nty () 1 R ({I‘JJ Ik Jet
(R R R B B R R PR A TR e N UL
(AY arlla (B & e () e (1) gl
L4 By using

115,

116.

Code

_option while printing mualtiple coples ol a mult page
document, the printer will pring uh pages ol onch copy before prnting Ihr
next copy, - '

(A)Y nilter (I orientation T collate (1)) worl

U 8- IR qaidan bl aigel wfdal e aad et a6l qu aa
Rt el ablel b 4l gm) ) e e qete serel) ) foe )

(A) heet (B SNRUe () @lde ()«

The Provides mobile users with positioning, navigation and timin | HETVICEH,
\ (AT GPS HH] EDGE (L") Illpvlun[h (1) HI'REI

HsTger viees ol sheibing St a0 anghin aida 6 afam yep g |

(A) GUPS (1Y) D (") LY A (D) GPrRrYy

Image s the process ol removing the unwanted outer areas from the image.

(A) cloning (13 sealing (C) eropping (1) Anti-nliaging

i L E0S 0 gt are) wen @) e ) ulman R

(A) el (3) ekl (}Q{/ LIQU"J’T

(1) uf - uferanfs
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118.

119,

120.

121.

122.

123.

Amazon Web Services (AWS) is a/an _service platform offering
various laaS and PaaS solutions. _

(A) application (B) cloud (C) Internet (D) network
FAM A A (AWS) v i) s %, T JaaS AT Paus AU
HIFL FHTA] 2 |

(A) e () (C) %zr3z (D) 7
Which of the following is not a product of Adobe Ing. "

%H 9 %H A1 Adobe Inc. %1 3797 751 8 9 J P
(A) Photoshop (B) InDesign  (C) Ilustrator (I Blender
Who among the following is the developer of ‘C” language 7

(A) I\]lklaus\ﬁ\’iﬂh ' (IE’J John Bac]%us

(C) Charles\Babbage ! (D7 Dennis Ritchie

STH " B C e = e

(A) Feetafad (B) wfadsm  (C) wedamy (D) 2faE R

Which of the following is the correct pairing of networking terms and their
inventors 7 .

(A) WWW — Ray Tomlinson MWWW [1m Berners-Lee

Email — Vinton Cerf Email — Ray Tomlinson
Internet — Tim Berners-Lee Internet — Vinton Cef
(C) WWW — Tim Berners-Lee (D) WWW — Vinton Cerf
Email — Ray Tomlinson Email — Bob Kahn
.. Internet — Leonard Kleinrock Internet — John Backus
3 H FH H1 JHA 2t 26 3 I T o GaY 4 971 2 7
(A) WWW —» T aifteres (B) WWW — 20 g5 -+
3-Uel - faem ok i-fe - ¥ e
FeHe — feq gad -l m—)ﬁ%ﬂ'ﬂ"iﬁ’ ®5E
(C) WWW — o mid—oft (D) WWW - fa=<ras &
-He — 1 A Tl — =Td H1EA
2T — FordTS T T — e A
Which of the following éeneratinns of computers used integrated circuits ?
(A) First (B) Second  (C) Third (D) Fourth

Wﬁm%mwﬁﬁmwﬁmw o 7
(A) wum (B) f&f GGiE (D) =74
Who among the following invented the CD-ROM ?

(A) Jeff Bezos (B) Bill Gates
ggfé Leonard Kleinrock \I2» James Russell
% CD-ROM T AT S 2

(A) IBFsE  (B) e (C) MR S (D) dm o

Who among the following is the inventér of USB ?
y"Ajay Bhat  (B) Sabeer Bhatia{C) Vinod Dham (D) Sam Pitroda
4 9 USB %1 sATfaesne & 7
(A) FFauz  (B) meRwfen (C) femwm (D) &u fere

o e s i S i R S R, S S e ] L e . e b -, = Sz
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124. What is the shortcut key to open the Font dialog box in Miérosoft Word 9

HTSPTHIGE TS H T SRreth wieq 51 ey & 760 ToFe -5 29 91 2 7

(A) Ctrl+E (B) Cul+o \/(,e)j Ctrl+D (D) Ctrl+F

125. Font sizes are generally measured in points which is equal to __é‘:::-f an inch,
HTETTAAT BTe 3 9159 1 39 TR < srerert = i 2 |
(A) 1/96 (B) 1/92 (C) 1/64 (DY 1/72

126. MS-Word has tab Stops set at every

inch byvdefaull.
MS-Word ‘a1 -fewree’ s T W R HFATE |

12 (B) 1/4 C) 1 (D) 2
127. Which of the following is not a type of section breaks in MS-Word ?
MS-Word ¥ 378 & = &1 339 5% %7 T Rrweq 781 2 0
N_A) Next Paragraph (B) Continuous

(C) Next Page (D) Even Page

128. Which of the following tabs in MS-Word contains the option to insert
footnotes ?

MS-Wnrdﬁaﬂﬁﬁ%a%aﬁgﬁﬂzmaﬁ%mﬁwmﬁw% ?

(A) Review (B) Page layout (Cy References (D) Insert

How can you use different page orientations in the same word document ?
(A) By inserting different sections  (B) By inserting tab stops

(C) By rotating text b 180\de% ( y changing margins <

ST 6% TR U ) < St e Uy &2l L HFH & 7
(A) ST 3T WEi i fFaw o (B) 29 w9 =i fay =

ey mo%ﬁmmmt‘ww (D) ZEIfETU 1 g2 =
130. What is the shorteut key to set

129,

the paragraph line spacing to 1.5 in MS-Word
document ?“ N o
MS-Word Sz % Tummes wes oifign | s mﬁraﬁmﬁzﬁaﬁqﬁ% ?
(A) Ctrl+2 (B) Ctrl+L g C

trl+3 (D) Ctrl+Q
131. Which of the following features of MS-Word lets
letters to a number of recipients with different names
(A) Document map (B) ~Macro
(C) Cross-reference

Mail-merge
4 8 MS-Word T 359 o1 18707 Tafiry

berge s i
1 HE & feT0 e Ot S gm R T O T
(A) SEgFE AT (B) B (C) ®E-ThE (D) e

132. What is the key combination used to insert a new line character in the text of
a cell in MS-Excel worksheet ? '
M*S-IixuuiWﬂ%ﬁﬁ#mﬁﬂﬁwwaﬁﬁamaﬁmm
29k femar s AT 2 7 ;

WA Alt+Enter  (B)  Enter (C) Shift+Enter (D) Ctrl+Enter

Code No. : C-676/2021/Series-C ' 18 R
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133.

An array formula can be entered in a cell in MS-Excel by entering formula
and pressing )

;11;3 Excel & & 3 wﬁiﬁutoﬂaﬁaaﬁﬁmmﬁmm%.mﬁﬁ?nmt Fleh

aH H |
(A) Cul+E m;'r (B) CulrAlt+Enter
N\ LY Ctrl+Shift+Enter (D) Shiﬂfl ‘nler i

134.

135.

136.

137.

138,

Consider the ollowing data in MS-Excel worksheel :
\«15 E\Lrel mﬂzﬁ i 2 1374
A BFT C | D E
4 | 8 | 3
_i 4

15 13

What will be [hL value of the arr ay formula {=SUM(A1:DI*A2:D2)!?
1=SUM(A L:D1*A2:D2)} &1 51 991 8Im 2

(A) 6< (B) 36 (C) 43 (1) 55

Consider the following data in MS-Excel worksheet :

IMS Q\cela%sﬂzﬂﬁmia ‘
g_j:rq | _D_lf |
& |

T
:*.T S 5
31T 1 T 1T T

What will be the value of the formula = =LARGE(A1:E2 1)+*LARGE(AL:E2,2) ?
=LARGE(AL:E2,1)+LARGE(A|:E2.2) %7 7H =41 81717 2

1\

-~

E5[E=
s

(A) 14 (B) 16 (CJ) 18 (D) 12
Which of the following features is not fotind in MS-Exce] ?
A) split a cell B) conditional forin: atting,
E merge adjacent cells % D) insert row
1T MS-Excel § F8f TRT SR 7
(A) & fawrem (B) :j?ﬁuﬂﬁﬁn
(C) TH | HI 7S HTAT (D) wfew gifgst =T
Assume that you have full names of the employees in one column of
MS-Excel sheet. The olplmn lets you split the full names into
columns first names and last names.
(A% Textto Columns (B) Consolidate
i]% Columns to Text (D) Ungroup
%MSExceHﬂE%ﬁmﬁ % 70 T § | ey

31 9ol T B 9UE A 3R 3T % are- mmwﬁﬁaﬂﬁw‘
FTIA BT L | o

(A) TFEIHEE (B) =raifaee (C) FlemZIWR (D) 3y

Which of the following options in MS-Excel lets you restrict the value of
cell from a list of values ?

(A) Consolidate (B) Filter (C) Freeze Panes (D) Data Validation
MS-Excel § =1 § % % a1 fasmeg et @aﬂ@ﬂﬁﬁﬁaﬂaﬁiﬁﬁﬂ
TG &1 AT FA1 2 7

(A) ®HTEE (B) fReer (C) W ‘D’ sy Aferdem
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139, Assume that in an MS-Excel sheet, cell Al contains the value 10% and the

140.

141.

142.

143,

144.

145,

e B A e e g e e e e E o o R e B S

Code No. : C-676/2021/Series-C 20

cell A2 contains the value 5%, then what will be the value of formulg
=A1*A2 7 ' -
T Wi R MS-Excel #e # @ A1 # 10% do7 3t A2 § 5% 3 &, o

WZAI*AZﬁaﬂ;ﬂTE‘Fﬁ‘?
(A) 0.05 (ﬁ) 0.005 (C) 0.5 (D) 5

Which of the following is correct formula in MS-Excel to round a number in
the cell Al to the nearest multiple of 10 ?

MS-Excel # ¥t A1 1 Rt s &1 freeam 10 % ories & 7378 H & Hay §

HE BT R ATR ?
(A) =ROUND(A1,10) (B) =ROUND(AI,I)
(C) =ROUND(A1,-10) \ (DY =ROUND(A1,-1)

Whith of the following features of MS-Excel can be used to highlight the
marks obtained by the students if the marks are below 10 ?
gA) Format Painter B) Data }f'_alldatmn .

C) Format Cells ; % Conditional Formatting
MS-Excel % 375 & fFw @aqor g1 ori w1 firet 37t =1 fodiw &9 & (highlight)
ST ST Heha ], 9 IF 10 A FHAN?

(A) itz Jg=x (B) sreraferewd
(C) wifie deq \ (D) iEems wife
Which of the following is not a valid cell address in MS-Excel ?
€ MS-Excel & 19 61 91 034 H=1 Ad1 & ?
(A) SASI (B) SAl ey Al (D) ASI
Which of the following functions in MS-Excel is used to scarch a value in
the leftmost column of a table and returns the corresponding value from
another column in the same row ?

MS-Excel # fr=feiea fooe wem & svah @ Reeft 297 § lefimost werm % 7
1 T S AUT FAM T H =T hietq A § g e By 2 2

(A) FIND() ‘(B)/VLOOKUP() (C) SEARCH() (D) INDIRECT()

Which of the following is the correct cell format to display cm'Iy the month

name of the date entered in a cell ?

%ﬁa;mmwaﬁamgwwﬁmﬁwﬁwwﬂﬁwﬁzﬁuﬁﬁ
e ? '

(A) Month ~ (B) M (Ch-mmmm (D) Mon
A i1s a tool in MS-Excel to calculate, summarize and analyze data to

study patterns and trends in the data,

(A) Line Chart (B) BarChart (C) Mail merge (D) Pivot Table
mﬁﬁaﬁg ; HW}%@@Z‘IW, HETOT T frveryur 3 v MS-Excel i
™ | :

(A) A (B) A () dawd by fiate v



146.

147,

148.

149,

150.

151.

152.

- - e . e, s i ——— e e e —— e,
—— — — ———— —— e =

Which feature in MS-Excel lets you quickly insert ¢ o
in a column of the sheet ? you quickly mnsert consecutive odd numbers

(A) Insert — Table {'E})*'F'i’ljl — Series...
(C) Data— Sort - (D) Insert — Object...
MS-Excel %1 %19 |1 Heqor e Bt Sie % o wiem o wivs S gene

1 9 et (370 3 ) o w2 2
(A) FHE  2aw (B) et - ...
(C) =1 —'ErR (D) 3 — Hisawe. ..

Assume that in an MS-Excel sheet, cell Al and A2 contain values 5 and 5%

respectively, then what will be the value of the formula =A1+A2 entered in
cell A3 of that sheet ?

A1 T % MS-Excel 3fie &, 351 Al 3ik A2 § 591 5 3t 5% deq & 71 B,
@ ¥fiT & &= A3 T 919 BIR{E = A1+A2 $ &g 1 &) 9

(A) 10% (B) 5.5% (C) 505% (D) 55%

Which of the following charts in MS-Excel shows numerical data as slices of

a single circle ?

(A) Bar B) A C) Secatt D) Pi

M Bl B s T 0 Bl o b o
WRT & R W g9rlar @ 7 E5E
(A) ¥R (B) uha © B by ow

Which of the following features in MS-Excel lets you record a sequence of
keystrokes and play them again when required ?

(A) Format Painter (B) Macro (C) Pivot Table (D) Wrap Text
MS-Excelﬁﬁﬂ%%faﬂﬁéaﬁq T T&IT ATt -1 1 At =7 ThT8 Fd
T HTITHAT TS T YT T (STe]) 2 h1 A0 FIA1 & 7

(A) BRI, (B)/ A (C) RErmE (D) Swise

What is the full form of UDP with reference to TCP/IP ?

TCP/IP & ¥&4 § UDP 1 0 &9 #4712 ?
(A) User Defined Protocol - B) Unit Data Packet
(C) Uniform Data Packet D) ‘User Datagram Protocol

In which of the following network topologies, all the nodes are connected to

- central connection point (like a hub or a switch) ?

(WY Star (B) Ring C) Bus (D) Mesh

¥ fr Yeah S & wvft ey FARH TR PR AG 2 (R
B 91 T 1) ? |
(A) W (B) fur (C) =9 (D) AW

Which of the following transmission media make use of four pairs of

insuylated copper wires ? . ‘

(WY UTP (B) Coaxial (C) Infrared (D) Optical Fibre
¥ hIF |1 Y9 H1egw Vet afe Y AW h A A G A 2

(A) UTP (B) wwE™ (C) T (D) wenfi ag
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153. Which of the following Internet services is responsible for translation of

domain names into corre ponding IP addresses ?
T H I Wt 34 Fa1 S 0 bl 6T [P addresses 3 ZeT ¥ T e 2 2
(A) ARP (B) S (C) SNMP (D) DHCP
154. In which of the following networks, the problem of hidden terminal arises ?
ireless network Optical fibre network
C) Local area network D) Social network
g o 5% gU (hidden) ehifrel B omen i 8 7
(A) aEE A7 (B) WA HE F2a
(C) rehel Uit Feaw (D) divge Jeash

155. What is the length in bits of an IPv6 address ?

\
IPv6 T3d H o oy ? +
?‘f}-@h@ ﬁ% 16 wﬁm?{:) 32 l-143‘)’128

156. The concept of IP addresses belongs to the - layer of 1SO-OSI reference

model. _
(A) session (B> "network. (C) trangport  (D)_data link

IP addresses %1 firgr [SO-OSI 1wty (dey) Higet % SR % AT HA1 3 |
(A) =9= (B) =k (C) zwae (D) s

157. What is the recoman%fnd maximum length of UTP%CAT 6 cable ?
UTP CAT 6 s GHS'FFH'H Ao TR =R ?
(A) 112 m (B) "84 m (C) 90m J(Dy-T00 m

158. How many usable IPv4 addresses are there in a network with subnet mask
255.255.255.240 ?

T Aedeh d FeHe AT 255.255.255.240 F wrer frad suadt Pva RE R E 7
(A) 15 (B) 16 (C) 14 (D) 17

159. Which of the following TPv4 address series is reserved by IANA for private use ?

TANA B 95 8§ SH €1 IPv4 U2F F T3 I9INT & AU e T T 2 7
%Ag 177.94.0.0/16 192.168.0.0/16
C) 16.24.0.0/16 D) 72.68.0.0/16

160. In which mode of communication, transmission can ocecur in both directions,
but only in one direction at a time ?

(A) Simplex _(B) Half-duplex (C) Half-simpl Full-dupl

T 5 et i B ST O S S 2, S we e o e uplex

(A) T W;rts-z——r«ﬁw (C) we-fmtsa (D) poi-sriam
161. GSM, UMTS and LTE are the types of

A) Wi-Fi technologies _ EB Optical fibre technologies
C) Bluetooth technologies 5 D) Cellular technologies
B EALS

GSM, UMTS 3{RLTE |

(A) Wi-Fi a1l (B), WehTfir &g debeien!
(C) =gy debAtehl \m)f AR
162. Which of the following colour wire is not found in' UTP cable ?
(A) Orange (B) Green (C) Blue (D) Yellow
s:rﬁ)?ﬁaﬁq%mwmuwéﬁaﬁ?ﬁwm% ?
(A) Tt (B) & (C) e \py e
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Ubuntu, Kali and CdentOS are the popular distributions of which operatins
system 7 )

(A) Mac (Bmu:{ (©) \‘-'indo;-\'s (D) Android
Ubuntu, Kali 31 CdentOS fra 3Tatfén fren & visfim e 1 -
(A) BF (B) f&==w (C) To=r= (D) =S
Which of the following is the built-in web browser for MacQS ?

(A) Chrome (B) Firefox (C) Safan (D) Edge

F H HH T MacOS #1 T fice-37 38 F591 2 2

(A) ®m (B) wmwmE (LY = D) =

What is the command in Linux to list the directory coftents 2 %—fé

Linx AT S s e sa st s st °

Is (B) In (C‘] myv (D) ps
The mode in Google Chrome browser can be used for private
browsing. o
(A) Confidential (B) Developer l_& Incognito (D) Promiscuous
(A) HRSETs (B) 9O ©) F=f (D) Sfiss

The famous WanaCry malware is an example of ; _
(A) Virus (B) Keylogger (C) Trojan {(D¥RansomWare
T WanaCry HTeadt U 32800 & ]
(A) 95T 1 (B) S ® (C) == (D) FEs s
A is a malware that grabs the keyswokes pressed by the user and sends
them to the hacker. -
(A) Kiosk (E‘% SPAM (C) Virus (B7 Keylogger

T ATeTea & S I9R g0 39 e F1-ee 51 I5eaT & 3R a5 8=
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(A) s (B) W (C) =& (D) ==
Which network security device allows or blocks the incoming and outgoing

network traffic based on a defined set of security rules ?
%’:)r NAS (B) router (C) gateway (D) firewall
|1 45 o s us FfveT T s =T ¥ s w e
AYT I 42T IS Fl 3Ha 41 Haeg FTE 7
(A) NAS (B) ¥R (C) -3 (Dy wEETs

Which of the following commands in Windows Linux is used 1o check the
status of active network connections ?

famera/ e 3 59 H 3973 9 R 5% siwe o ¥ e e
(A) ping By netstat (C) 1pconfig (D) taceroute




